
Note: Do not tighten bolts until assembly complete.

Made in VietnamCleaning instructions: Clean using soft cloth

STEP 1:

 

ASSEMBLY INSTRUCTIONS

ITEM NO.: 21937V
DESCRIPTION: SOFA TABLE- VALENCIA 

GROUP: 21930V  VALENCIA OCC  

Parts List
Description

Top FrameA

ShelfB

Bottom PanelC

Glass TopD

LegsE

No. Sketch Q’TY

1 PC

1 PC

1 PC

1 PC

4 PCS

Place Top Frame (A) on a soft flat, attach four Leg (E) to the Top Frame (A) by using Allen Key M4 (5)   
Allen Bolt 1/4” x28mm (2), Spring Washer 1/4” (3), Flat Washer 1/4” (4)

PAGE 1 OF 2

Allen Bolt 1/4” x 50mm
Allen Bolt 1/4” x 28mm

Allen Key M4

Spring Washer 1/4”

4PCS

1PC
1PC

1
8PCS
12PCS
12PCS

2
3
4
5

Allen Key M46

Flat Washer 1/4”

Hardware List
DescriptionNo. Sketch Q’TY

GROUP: 21930 SEVILLE
ITEM NO.: 21937-TABLE,SOFA



 

ASSEMBLY INSTRUCTIONS

ITEM NO.: 21937V
DESCRIPTION: SOFA TABLE- VALENCIA 

GROUP: 21930V VALENCIA OCC 

Made in VietnamCleaning instructions: Clean using soft cloth

STEP 2: STEP 3: 
 Attach Shelf (B) to Legs( E) by using Allen
Key M4 (5), Allen Bolt 1/4” x28mm (2), Spring
Washer 1/4” (3), Flat Washer 1/4” (4)

PAGE 2 OF 2

Attach Bottom Panel (C) to Legs (E) by using 
Allen Key M4 (5),  Allen Bolt 1/4” x50mm (1),
Spring Washer 1/4” (3), Flat Washer 1/4” (4)

STEP 4: 
Turn over the table. Tighten all bolts carefully 
and Insert Glass top (D) into the Top Frame (A)

 STEP 5: 
Assembly is completed.

GROUP: 21930 SEVILLE
ITEM NO.: 21937-TABLE,SOFA


